16.1 Exercises Pg. 714 # 8, 16, 26 (# 18, 28 optional) [ANSWER KEY]
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26.
Because —4 1s used as a factor 3 times, the exponent 1s 3.
28. a. C =100(0.99988)° =100(0.99988)" ~ 99.95

Because y 1s used as a factor 2 times, the exponent 1s 2.

0, (~4) o (~4) o (-4) & y oy =|(-4) " o
After 4 years, the amount of carbon-14 remaining 1s

16. [1]3 = (l o 1 . l} |- about 99.95 grams.
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18. 675 original amount
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After 4 years| 99.95% [of the carbon-14 remains.

The prime factorization of 6751s Se 5e 3 e 3 @ 3,

or|5% e 3°.




